Contrôle : calculs littéraux

EXERCICE 1 
(6,5pts)
Développement 
A 
= (6x – 1 )²



0.5pt


= (6x)² - 2×6x×1 + 1²


= 36x² -12x +1

B 
= ( 5x + 3 )²



0,5pt


= (5x)² + 2×5x×3 + 3²


= 25x² + 30x + 9
C 
= (4x – 6 )( 4x + 6 )


0.5pt


= (4x)² - 6²


= 16x² - 36

D 
= ( x² – 7 )²



1pt




= (x²)² - 2×x²×7 + 49


= x4 – 14x² + 49

E 
= 5(2x – 3)2 - (5x – 2)(5x + 2)      
1.5pt



= 5(4x² - 12x + 9) – (25x² - 4)


= 20x² - 60x + 45 – 25x² + 4


= -5x² -60x + 49

F 
= eq \b(  x +  eq \s\do1(\f(4;7)) )
 2



1pt

= 
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= 
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G 
=  8(2x – 1)(2x + 1) – 4(3x – 1)2
1,5pt

= 8((2x)² - 1) – 4((3x)² -2×3x×1 + 1²)


= 8(4x² - 1)- [4(9x² -6x + 1)]


= 32x² - 8 – [36x² - 24x + 4]


= 32x² - 8 – 36x² + 24x – 4


= -4x² + 24x -12
EXERCICE 2 
(10,5pts)

Factorise les expressions suivantes :

A 
= 6x – 6y



0.25pt



= 6(x – y)

B 
= 5x + 5



0,25pt


= 5(x + 1)

C 
= 12xy – 18yz 


0,5pt



= 6y2x – 6y3z


= 6y(2x – 3z)

D 
= 4x² + 12x + 9


0,75pt


= (2x + 3)²

E 
= 16x² - 9



0,75pt



= (4x)² - 3²


= (4x – 3)(4x + 3)

F 
= 25x² + 4 – 20x


1 pt

= 25x² – 20x + 4


= (5x – 2)²

G 
= (2x + 3)² - 49


1,5pt



= (2x + 3)² - 7²


= [(2x + 3) – 7] [ (2x + 3) + 7]


= [2x – 4] [2x + 10]


= 2(x – 2)2(x + 5)


= 4(x -2)(x +5)

H 
=   eq \s\do1(\f(9;4)) x ² –  eq \s\do1(\f(3;2)) x +  eq \s\do1(\f(1;4))


1,5 pt

= 
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I 
= (5x – 1) – 2(5x – 1)(x + 3)    
1pt



= (5x – 1)×1 – (5x – 1)2(x + 3)    

= (5x – 1)[1 - 2(x + 3)]


= (5x – 1) [1 – 2x – 6]


= (5x – 1) [-2x – 5] 

J 
=   9(x – 1)2 - 16(x + 1)2

1,5 pt

=  3²(x – 1)2 - 4²(x + 1)2



=  [3(x – 1)]2 – [4(x + 1)]²

=  (3x – 3)² - (4x + 4)²

= [(3x – 3) + (4x + 4)] [(3x – 3) – (4x + 4)]


= [7x + 1] [-x – 7x]

K 
= (3x – 2) (x + 2) + x ² – 4

1,5 pt

= (3x – 2) (x + 2) + (x – 2)(x + 2)


= (x + 2) [ (3x – 2) + ( x – 2) ]


= (x + 2) [ 4x – 4]


= (x + 2) 4 (x – 1)

EXERCICE  03 
(2,5pts)

Soit l’expression  I = ( 2x + 7 )( x – 4 ) + 4x² + 28x + 49.

a. I 
= ( 2x + 7 )( x – 4 ) + 4x² + 28x + 49.

= 2x² - 8x + 7x – 28 + 4x² + 28x + 49


= 6x² + 27x  + 21

b. 4x² + 28x + 49 = (2x  + 7)²


c.   I
= ( 2x + 7 )( x – 4 ) + 4x² + 28x + 49

= ( 2x + 7 )( x – 4 ) + (2x  + 7)²


= ( 2x + 7 )( x – 4 ) + (2x  + 7) (2x  + 7)


= (2x  + 7)[ (x – 4) + (2x + 7)]


= (2x + 7) [3x + 3]


= (2x + 7) 3 (x + 1)

EXERCICE  04 
(4pts)

Complétez les expressions suivantes :

(y - 9)²  

= y²  -  18y + 81

1pt

 (8z + 7) ( 8z – 7) 
= 64z² - 49 


1pt

4y² + 20y + 25
= ( 2y + 5)²


1pt

4z² + 20yz + 25y² 
= (2z + 5y)²


1pt
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